X2 71"7'01n 2,80 P2 .7"02

— 9913 DR 2T AN KoY RY
There is no doubt if an unpaid watchman transferred, etc.

OVERVIEW

X"7 ruled that if a "W transferred his deposit to another 2w, the original W
retains his status. He is w5 for any loss that he would have been 75 had he not
transferred it. This rule is certainly valid if a n"w transferred his deposit to a ",
wherein he increased the level of 77nw. Our N1901N will explain what is meant that
the (D7) MW is MWL,
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The explanation of this ruling (that if a n"w transferred it to a w"v then the 1"w is

(certainly) Mw»), is that the n"w is 7wy if it was stolen or lost (from the v"w) -
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However concerning the w''w, when he pays (for a w"v is liable for 772X 72°13),

he pays to the owners and not to the n"w (even though the n"w hired him and is paying him

for guarding the deposit) -
- 2509 /95 1997 (2,19 n7a) 1°P91912 199N

As the X773 rules in 75p2%7 275 that the law is according to >'' -
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Who maintains that this one (the (217) ) cannot make a (profit from a)

business, with his friends (the owner’s) cow. The n"w cannot collect the money from
the w"v for himself, at the expense of the owner. The monies that the w"¥ pays go to the owner
of the cow.’

SUMMARY
If a n"w transferred a NP5 to a w"w and it was lost or stolen; the ruling (according
to X"9) is that the 1"w is 7wd and the w"w pays the owner.

THINKING IT OVER

! Perhaps moown is negating that he is not 112 if the w"w was yw9. In such a case the n"w will be 2»m; since he
would have been 271 if he was the yw. See 00w W 7"7 "W

% The mwn there (2,77) states that if renter (1212) lends out his rented cow and it died 0182; the 0°m51 maintain that
the borrower (7X) pays the renter (for a PXW is 1°012 2>1), and the renter is exempt from paying the owner (for a
01 is 701X Mwd). The renter profits and the owner loses. *"7 argues and maintains that the borrower pays the
owner directly; the renter cannot profit at the expense of the owner.

? See “Thinking it over # 2.
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1. Why cannot mpoIn say that we are discussing 70ax3;" in which case both are
7w, and we need not be involved with the np1omn of 131271 °"1?

2. We can seemingly differentiate between the np172m% of 131271 °"1 which is in a case
of a w"w who gave it to a PXW, and our case where a n"w gave it to a w"w. When
the 1" gave it to a w"w, the n"w is paying the ¥"v for the 77w (however when a
w"w transfers it to a %W, the w"w is not paying for it); it is possible that in this
case, even *'"1 would agree that the payment goes to the 1"% and not to the owner.
Why does n1v01n assume that even in this case, "7 would maintain that the ¥"w
pays the 0°5v2?!’

* The concluding case of Mwd 1"wY Fomw W' is discussing 70INI (see KoK 71"7 "W).
5
See n'"m.
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